

Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>

<u>CRITERION 7 – Institution Values and Best Practices</u>

7.1.9 Resources available in the Institution:

Sr. No.	Metric	Document details	Year
	No.		
1.		Description of Physical facilities	2013-18
		available	
2.		List of facilities available	2013-18
3.	7.1.9	List of Gymnasium equipment	2013-18
4.		Facility of Scribe for Examination	2017
5.		Lift Installation bill	2013



VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>

7.1.9 Differently abled (Divyangjan) friendliness:-

The institute has the following facilities for differently abled (Divyangjan) students:-

a) Physical facilities:-

- (i) Boys and Girls common room
- (ii) Toilets for Gents / Ladies
- (iii) Cafeteria
- (iv) Stationary store
- (v) Guest rooms/ On-campus faculty/staff accommodation
- (vi) Amphitheater
- (vii) Gymnasium
- (viii) Boys and Girls Hostels
- (ix) Playground
- (x) In-door games such as Table Tennis, Chess, and Carom etc.
- (xi) Library
- (xii) Water coolers

b) Provision for Lift:-

One lift is available in the main Academic building (Shripati).

c) Provision of Ramp:-

Three ramps are provided in the Institute. One is near the ground floor of main academic building (Shripati), second is ground floor of Bhaskaracharya Building and third is ground floor of Ganesh Dawaidnya Building. The ramps are provided only for physically handicapped students/staff.



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: mpcoe@vpmmpcoe.org URL:www.vpmmpcoe.org

e) <u>Rest rooms:-</u>

Special toilet is available on Ground Floor of main Academic building for physically handicapped students/staff.

f) Scribes for examinations:-

This facility is also available for a handicapped/ injured student while appearing for the examinations.

g) Clean drinking water:-

Clean drinking water is available with water cooler (with Annual Maintenance Contracts) installed for water coolers at all the places such as Academic building, Cafeteria, Hostels etc.

h) Other facilities:-

5% Reservation of seats for Persons with Disability for faculty recruitment and 5% Reservation of seats for students with disability for Central Admission Process (CAP) rounds.

Physical facilities (Yes/No)	Provisio n for lift (Yes/No)	Ramp/ Rails (Yes/No)	Braille Software / f acilities (Yes/No)	Rest Rooms (Yes/No)	Scribes for examinati on (Yes/No)	Special skill development for differently abled students (Yes/No)	Any other similar facility
Yes	Yes	Yes	No	Yes	Yes	No	Yes

Summary of the facilities available for Differently abled students



VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>



Ramp near the Ground floor of Academic Building (Shripati)



Ramp near the second entrance of Academic Building (Shripati)



VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>





VPM's Maharshi Parshuram College of Engineering, Velneshwar



Special toilet for Handicapped students / staff with handle for support



Access to handicap toilet from ramp





Special toilet for Handicapped students / staff with handle for support



Special toilet for Handicapped students / staff with handle for support



Lift near the entrance of Academic Building (Shripati)



W

VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>



Students making use of Gymnasium facility



Faculty/Staff making use of Gymnasium facility



VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: <u>mpcoe@vpmmpcoe.org</u> <u>URL:www.vpmmpcoe.org</u>



Faculty making use of Gymnasium facility



Faculty making use of Gymnasium facility



VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: mpcoe@vpmmpcoe.org URL:www.vpmmpcoe.org

Gym Equipment List

Sr. No.	Name of the Instruments	Available Quantity
1	Bicycle with Charger	2
2	Lat Pulley	1
3	Lat Rowing	1
4	Weight Asst Chair	1
5	Leg Extension Ctrl	1
6	Swiss Ball	2
7	Hat Bench	2
8	Hat Bench Press	1
9	Seated Bench Press	1
10	Decline Bench Press	1
11	Inclined Bench Press	1
12	Hack Squats Leg	1
13	Cross Over Pulley	1
14	Smith Press	1
15	Preacher Ctrl	1
16	Abdominal Board	1
17	Hyper Extn. Room Chair	1
18	Twister	2
19	Stretching Machine	1
20	Roller Walker	1
21	Seation Stools	3
22	Weight Bar	6
23	Dumbbells	4, 2.5 kg
24	Dumbbells	12, 5 Kg
25	Dumbbells	8, 7.5 Kg
26	Dumbbells	2, 10 kg
27	Dumbbells	4, 12.5 kg

·		
28	Dumbbells	4, 15kg
29	Dumbbells	2, 20 kg
30	Dumbbell Rack	1
31	Plates	16, 5 kg
32	Plates	4, 7.5kg
33	Plates	6, 10kg
34	Plates	6, 20kg
35	Bar Clips	19
36	Rubber Mat	5
37	Allen Key	4
38	Screw Driver	2
39	Spanner	2
40	Air Pump	2
41	Machine Cable Bundled	1
42	Adjustable Bench	1



ho 2 n

Principal VPM's Maharshi Parshuram College of Engineering, Velneshwar



Tel No. 02359-243102/3/4 Fax No. 02359-243102 E-mail: mpcoe@vpmmpcoe.org URL:www.vpmmpcoe.org

Vidya Prasarak Mandal, Thare's Maharah Panhuran Colego Ot Engineering How-Gubagar Yood, At: Veneshwar, Takka: Gubagar, Dist: Ratinger (Ator & DTE approved and affiliated to University of Mumba)	Nayan D Kule BE (Wi) VPM MPCOE UPIN'S MPCOE Vanelhour
BONAFIDE CERTIFICATE	Subject = To get writter for Exam
It is is to certify that Mr. Abhay Shashikant Mohire son of Mr. Shashikant Dagadu Mohire admitted to our college for Third Year Instrumentation Engineering during the academic year 2016-17. His registration number is NS13F001. His admission is under OBC category. His date of birth is 24 th Norember, 1995. His conduct is satisfactory. This certificate is issued on his request. The Nighash M. Chincholtar. Principal Wr. Prin	Respected six, I am Mayon D kule from BE civil Engineering department. Due to sudden accident my right hand get kuthree and because of that I cosil write my university examination of sem vis which is held from 12th may 2017. SO I request you give examination period. It is humble request to you six. Thanking you.
Y-\2016-2017\Bonafide\SE Bonafide\IC-14 No.61	Your's Faith

Exam related documents for physically un-fit students



VPM's Maharshi Parshuram College of Engineering, Velneshwar

Southy mail (opy and have of Tel No. : 2542 6270 Tel Fax : 2544 8768 Website : www.vpmthane.org

: vpm@vpmthane.org

डानक पसार क पादा ठाण

VIDYA PRASARAK MANDAL

Estd. : 1-8-1935

11(22) Gym.

Public Trust Regn. No. F-5(T)

DR. BEDEKAR VIDYA MANDIR, NAUPADA, THANE (WEST) - 400 602.

Ref. : VPM/ Veln. 1851 2012

Date : 14/12/12

To M/s Khare Enterprises Pvt Ltd B7/11, MIDC (Miraj Block), A/P/TAL: Miraj, DIST: Sangli 416 410,

KA: Harshal Khare (+91 09822099959.)

Sub.: Purchase Order for GYM Equipments for our VPM's Maharshi Parshuram College of Engineering, Velneshwar.

Dear Sir,

With reference to your quotation dated 09.09.2012, we are pleased to place an order for purchase of Gym & Fitness machines for our Engineering College at Velneshwar, as follows:

Model No.	Equipment (CARDIO)	RATE	QTY.	VALUE (RS)
TM M01	TREADMILL (MANUAL) WITH METER (ROLLER TYPE)	24,900.00	1	24,900.00
7318 LC	UPRIGHT BIKE SEMI COMMERCIAL , PRE- PROGRAMMES , COMMERCIAL , DISPLAY , SPEED ,DIST,TIME , CAL ORIES BURN , PULSE	48,900.00	2	97,800.00
	FITNESS ZONE			
F-02	TWISTER (2 WAY)	14,000.00	2	28,000.00
F-03	ROMAN CHAIR CUM HYPER EXTENSION	20,300.00	1	20,300.00
F-04	ABDOMINAL BOARD	28,300.00	1	28,300.00
F-07	SWISS BALL (65 CM)	1,300.00	2	2,600.00
F-08	STREACHING MACHINE	18,300.00	1	18,300.00
	"ECNO" Series	and a state of the second		
ES-01	HIGH LAT PULLEY (WEIGHT STACK 60)	61,300.00	1	61,300.00
ES-02	LAT ROWING (WEIGHT STACK : 60)	61,300.00	1	61,300.00
ES-04	CROSS OVER PULLEY (2 SIDE WEIGHT STACK : 60 EACH)	79,300.00	1	79,300.00
ES-05	PECK DECK WITH REV FLY (WEIGHT STACK: 60)	61,300.00	1	61,300.00
ES-06	CALF SEATED(FREE WEIGHT STYLE)(no weight stack)	23,900.00	1	23,900.00
ES-07	SMITH PRESS (NO WEIGHT STACK) WITH COUNTER BALANCE	43,300.00	1	43,300.00
ES-09	LEG EXTENSION & LEG CURL (WEIGHT STACK : 60)	61,300.00	1	61,300.00
ES-14	LEG PRESS 45 deg (no weight stack)	61,300.00	1	61,300.00
ES-19	WEIGHT ASSISTED CHINUP BAR (WEIGHT STACK : 60)	61,300.00	1	61,300.00
				2

Tel No.	:	2542 6270
Tel Fax	:	2544 8768
Website	:	www.vpmthane.org
Email	:	vpm@vpmthane.org



VIDYA PRASARAK MANDAL

Estd. : 1-8-1935

Public Trust Regn. No. F-5(T)

DR. BEDEKAR VIDYA MANDIR, NAUPADA, THANE (WEST) - 400 602.

	Ref.: VPM/ Veln. 1851/2012		Da	te:1411211
	FREE WEIGHT SECTION		1	
FW-01	FREE WEIGHTS (ROUND SHAPED) available range 1.25 , 2.5 , 5 , 10 ,20	133.00	300	39,900.00
D-01	DUMBELS (available range: 2.5 , 5 , 7.5 , 10 , 12.5, 15 , 17.5, 20 , 25 , 30,)	175.00	300	52,500.00
B-02	BARS 3.5 FT (WIDE GRIP)	1,470.00	2	2,940.00
B-04	BARS 5 FT	2,100.00	3	6,300.00
B-05	BARS 6 FT	2,520.00	1	2,520.00
SPL-02	SPRING LOCKS (SPECIAL)	280.00	20	5,600.00
	BENCHES & RACKS			
BEN-01	INCLINED BENCH	19,300.00	1	19,300.00
BEN-02	DECLINED BENCH	19,300.00	1	19,300.00
BEN-03	FLAT PRESS BENCH WITH STAND	19,300.00	1	19,300.00
BEN-04	FLAT PRESS BENCH WITHOUT STAND	14,300.00	2	28,600.00
BEN-05	ADJUSTABLE BENCH WITHOUT STAND	14,300.00	1	14,300.00
BEN-07	SEATED PREACHER CURL BENCH	17,300.00	1	17,300.00
BEN-08	STOOLS	3,300.00	3	9,900.00
RC-05	DUMBELL RACK WITH BAR STAND & WEIGHT PLATE STAND(8 FT SINGLE DECK)	26,300.00	1	26,300.00
	ACCESSORIES			
AC-02	WIRE ROPE(TRANSPERENT)	95.00	100	9,500.00
			Total	10,08,060.00
		Packir	ng 2.50%	25,201.50
		S	Sub Total	10,33,261.50
Vat 12.50%				
			Total	1,162,419.19
			Discount	62,419.19
		Net Amt	Payable	11,00,000.00

1

Terms & Conditions:

- 1. Above price in inclusive of Transportation to the site.
- 2. Payment within 8 days of delivery and receipt of invoice
- 3. Billing & Site Address: VPM's Maharshi Parashuram College of Engineering,
- Hedavi Guhagar Rd; At Velneshwar, Tal.: Guhagar, Dist. Ratnagiri.
- 4. Delivery within 1 month

Chairman Vidya Prasarak Mandal, Thane

CC: Mr. Hrishikesh Gokhale, Site Co-ordinator, Velneshwar (Mob.9623322735, 9987555725)



To,

Date:- Sunday, September 09, 2012

MAHARSHI PARSHURAM COLLEGE OF ENGG, VELNESHWAR

SUB: Quotation

Dear Sir,

We thank you for showing interest in our GYM & FITNESS machines. We are proud to say that we are one of the largest manufacturer for the gym & fitness equipments ,where we have highly Sophisticated machines installed in different gym & fitness clubs in India. This has reference of enquiry through email and has pleasure to submit our lower most quotation as below.

MODEL NO.	CARDIO	RATE	QUANTITY	VALUE
TM M01	TREADMILL (MANUAL) WITH METER (ROLLER TYPE)	24,900.00	1	24,900.00
7318 LC	UPRIGHT BIKE SEMI COMMERCIAL , PRE- PROGRAMMES , COMMERCIAL , DISPLAY ,SPEED ,DIST,TIME , CAL ORIES BURN , PULSE	48,900.00	2	97,800.00

FITNESS ZONE

F-02	TWISTER (2 WAY)	14,000.00	2	28,000.00
F-03	ROMAN CHAIR CUM HYPER EXTENSION	20,300.00	1	20,300.00
F-04	ABDOMINAL BOARD	28,300.00	1	28,300.00
F-07	SWISS BALL (65 CM)	1,300.00	2	2,600.00
F-08	STREACHING MACHINE	18,300.00	1	18,300.00

Manufactured in India by: Khare Enterprises Pvt. Ltd., B7/11, M.I.D.C., Miraj, Dist.Sangli 416 410(Mah.) India. Tel.: +91 233 2645006, 2644206 Telefax: +91 233 2644204 E MAIL:: <u>harshal@gymmm.com</u>, <u>harshal30@yahoo.com</u>



SINGLE STATION (ecno) STRENGTH MACHINES

		<u>"ecno"</u> <u>SERIES</u>		
ES-01	HIGH LAT PULLEY (WEIGHT STACK 60)	61,300.00	1	61,300.00
ES-02	LAT ROWING (WEIGHT STACK : 60)	61,300.00	1	61,300.00
ES-04	CROSS OVER PULLEY (2 SIDE WEIGHT STACK : 60 EACH)	79,300.00	1	79,300.00
ES-05	PECK DECK WITH REV FLY (WEIGHT STACK : 60)	61,300.00	1	61,300.00
ES-06	CALF SEATED(FREE WEIGHT STYLE)(no weight stack)	23,900.00	1	23,900.00
ES-07	SMITH PRESS (NO WEIGHT STACK) WITH COUNTER BALANCE	43,300.00	1	43,300.00
ES-09	LEG EXTENSION & LEG CURL (WEIGHT STACK : 60)	61,300.00	1	61,300.00
ES-14	LEG PRESS 45 deg (no weight stack)	61,300.00	1	61,300.00
ES-19	WEIGHT ASSISTED CHINUP BAR (WEIGHT STACK : 60)	61,300.00	1	61,300.00

FREE WEIGHT SECTION

FW-01	FREE WEIGHTS (ROUND SHAPED) available range 1.25 , 2.5 , 5 , 10 ,20	133.00	300	39,900.00
D-01	DUMBELS (available range: 2.5 , 5 , 7.5 , 10 , 12.5, 15 , 17.5, 20 , 25 , 30,)	175.00	300	52,500.00
B-02	BARS 3.5 FT (WIDE GRIP)	1,470.00	2	2,940.00

Manufactured in India by: Khare Enterprises Pvt. Ltd., B7/11, M.I.D.C., Miraj, Dist.Sangli 416 410(Mah.) India. Tel.: +91 233 2645006, 2644206 Telefax: +91 233 2644204 E MAIL:: <u>harshal@gymmm.com</u>, <u>harshal30@yahoo.com</u>



B-04	BARS 5 FT	2,100.00	3	6,300.00
B-05	BARS 6 FT	2,520.00	1	2,520.00
and south	SPRING LOCKS (SPECIAL)	280.00	20	5,600.00

BENCHES & RACKS

BEN-01	I INCLINED BENCH	19,300.00	1	19,300.00
BEN-02		19,300.00	1	19,300.00
BEN-03		19,300.00	1	19,300.00
BEN-04	FLAT PRESS BENCH WITHOUT STAND	14,300.00	2	28,600.00
BEN-0	5 ADJUSTABLE BENCH WITHOUT STAND	14,300.00	1	14,300.00
BEN-0	7 SEATED PREACHER CURL BENCH	17,300.00	1	17,300.00
BEN-0		3,300.00	3	9,900.00
RC-05	DUMBELL BACK WITH BAR STAND & WEIGHT	26,300.00	1	26,300.00

ACCESSORIES

AC-02	WIRE ROPE(TRANSPERENT)	95.00	100	9,500.00
			TOTAL	1,008,060.00
	\mathbf{X}	PACKING	2.50%	25,201.50
	red tool		SUB TOTAL	1,033,261.50
	Care of	VAT	12.50%	129,157.69
		TRANSPORT	(ACTUALS)	0.00
	P	FINAL	TOTAL	<u>INR</u> 1,162,419.19

Manufactured in India by: Khare Enterprises Pvt. Ltd., B7/11, M.I.D.C., Miraj, Dist.Sangli 416 410(Mah.) India. Tel.: +91 233 2645006, 2644206 Telefax: +91 233 2644204 E MAIL:: <u>harshal@gymmm.com</u>, <u>harshal30@yahoo.com</u>

Vei- hift file

DEALERS IN: ALL TYPES OF LIFT ERECTION, MODERNIZATION & MAINTENANCE IMPORT & FIXING LIFTS & ESCALATORS MAINT. ELECTRICAL WORKS & ELE. CONTRACTORS

Blue Sin

Elevator Division

Ratnagiri Branch Office : PATEL PLAZA, Bhendi Naka, CHIPLUN, Dist. Ratnagiri - 415 505. Mob.: 9867200309 / 9867700309, E-mail : kazi.noor@rediffmail.com

To, The Chairman/Secretary, Vidya Prasarak Mandal, Thane, Maharshi Parshuram College of Engg., Tal. Guhagar, Dist. Ratnagiri, Maharashtra. Customer VAT TIN No.

Invoice No. BL-173/2013-14 Date : 09/01/2014 Challan No. : Date : Delivery at : P.O.No. :

Sub :- Bill for AMC of 8 Passenger Elevator at Velaneshwar.

Sr. No	Item Code PR No.	Description	Qty.	Unit	Rate	Amount
1		AMC for the G + 2 VVVF Drive 8 Passenger Elevator's Comprehensive Service.	1	Nos.	35000	35,000.00
		Period : 1st April 2013 to 31st March 2014				
			Amount	35,000.00		
	Add: Service Tax*@ 12.5%					4,375.00
1000	Total Bill Amount				Amount	39,375.00

(Rupees Thirty Nine Thousand Three Hundred Seventy Five Only)

Please issue cheque in favour of Blue Line.

VAT TIN No. CST TIN No. Service Tax No. PAN No.

27630914166V w.e.f. 18.06.2012 27630914166C w.e.f. 18.06.2012 APTPK5500RSD001 APTPK5500R

I/We hereby certify that my/ our registration certificate under the Bombay Sale Tax account 1959 is in force on the date on which the sale of goods specified in this bill/cash memo is made by me/us and that the transaction of the sale covered by the bill/cash memo has been effected by me/us in the regular course of my/our business.







DEALS IN : ALL TYPES OF LIFT ERECTION, **MODERNIZATION & MAINTENANCE**

Sub :-



ALFA DEAL **ELEVATOR DIVISION**

233 /234, BELLASIS ROAD, 1ST FLOOR, SHOP NO. 49, KEDY SHOPPING CENTRE, MUMBAI - 8. HEAD OFFICE : TEL. : 2301 0345 • 2307 4883 • 5621 4744 • FAX : 2306 2093 • alfadeal@vsnl.net

To.

The Chairman/Secretary, Vidya Prasarak Mandal, Thane, Maharshi Parshuram College of Engg., Tal. Guhagar, Dist. Ratnagiri, Maharashtra. Customer VAT TIN No.

Invoice No.AD-24/2012-13 Date: 23/10/2012 Challan No. : Date : Delivery at : Guhagar O.No.

Sr. **Item Code** Description Qty. Unit No Rate PR No. Amount 1 Supplying and installation of Collapsible Door, V3F Drive System 8 Passenger Elevator. G+2 1 Nos. 625000 625,000.00 **Total Amount** 625,000.00 Add: VAT @ 12.5% 78,125.00 703,125.00 Service Tax @ 10.36% 12,950.00 Add: Transportation Charges **Total Bill Amount** 716,075.00

(Rupees Seven Lac Sixteen Thousand Seventy Five Only) Please issue cheque in favour of Alfa Deal.

pl. etek. Advome

VAT TIN No. : 27820890733V w.e.f. 17.03.2012 CST TIN No. 27820890733C w.e.f. 17.03.2012 : PAN No. : AAAPI1422Q

I/We hereby certify that my/ our registration certificate under the Bombay Sale Tax account 1959 is in force on the date on which the sale of goods specified in this bill/cash memo is made by me/us and that the transaction of the sale covered by the bill/cash memo has been effected by me/us in the regular course of my/our business.



For ALFA DEAL

Bill for Material Supplied.

Tel No. : 2542 6270 Tel Fax : 2544 8768 Website : www.vpmthane.org Email : vpm@vpmthane.org



VIDYA PRASARAK MANDAL

Estd. : 1-8-1935

-8-1935 Public Trust Regn. No. F-5(T) DR. BEDEKAR VIDYA MANDIR, NAUPADA, THANE (WEST) - 400 602.

Ref.: VPM/ Velu/272 (2012

Date : 14/01/2

To, The Inspector of Lifts, I.E. & L. Dept, Rationing Compcund, Chembur, Mumbai 400 071.

Sir,

Sub :- Permission for installation of Lift at VPM's Maharshi Parshuram College of Engineering, at Velneshwar, Ratnagiri.

We submit herewith application for "A" with two set of layout drawing. showing the lift installation and machine room.

- 1. We are providing separate armoued cable through the lift sheft for the power and lighting supply for the elevators.
- 2. There is also an independent entrance to the machine room.
- 3. For the purpose of inspection, maintenance and repairs we are providing machine room of height of 8 ft. with adequate space in front and the side of the machine platform for free access to all parts of the machine and equipments loacted therein.

Thanking you and oblige.

Yours faithfully, for Vidya Prasarak Mandal, Thane

gar MAKES CHAIRMAN

Encl :- As above.



AVINASH BHOLE G.D. ARCH. ARCHITECT INDUSTRIAL PLANNER INTERIOR DESIGNER MEMBER:PEOPLE'S EDUCATION SOCIETY THANE. RESI:2536 80 10 MOB:9869155774

SHOP NO. 5, MAHAJAN APARTMENTS, V. SAVARKAR MARG, OPP. ARAMBAUGH ESTATE, THANE (W)-400 602.

To, The Inspector of Lifts Mumbai (Maharashtra)

> Sub: Proposed Installation of lift at Vidya Prasarak Mandal's Maharshi Parshuram College of Engineering in Building no. A1 on Gut no.989-992-993-994-995-1001 at Village Velneshwar, Hedavi Guhagar Road, Tal- Guhagar, Dist.-Ratnagiri

Dear Sir,

We enclosed herewith photocopy of the original approval plan / site plan under Ref.no.2579 Dt.-14.12.2011 of Town Planning Authority LNA / SR / 4412 Dt.- 5.1.2012 of Sub-Divisional Officer, Chiplun.

We state that the height of the building from ground level to terrace level is 12.05 mtrs as approved by the Town Planning Authority of Dist. Ratnagiri & Sub-Divisional Officer, Chiplun.

Thanking You

Your's Faithfully,

(Avinash Bhole) Architect Reg. No. CA/81/6348

Tel No.	:	2542 6270
Tel Fax	:	2544 8768
Website	:	www.vpmthane.org
Email	:	vpm@vpmthane.org

Date: 03/02/2012



VIDYA PRASARAK MANDAL

Estd. : 1-8-1935

Public Trust Regn. No. F-5(T)

DR. BEDEKAR VIDYA MANDIR, NAUPADA, THANE (WEST) - 400 602.

Ref. : VPM/ Ve

To, **M/s Alf Touch** *Elevator Division* 223 / 234, Bellasis Road, Shop No 62, Kedy Shopping Centre, Nagpada, Mumbai 400 008

Contact Person : Mr. Kazi Noor 9867200309 / 9821139678.

SUB :- Purchase Order for Supply and Installation of one new fully automatic passenger Lift at VPM's Maharshi Parashuram College of Engineering (Proposed), Velneshwar, Guhagar.

Dear Sirs,

With reference to your Proforma Invoice dated 03.02.2012, we are pleased to place an order for Supply and Installation of one new fully automatic passenger Lift at VPM's Maharshi Parashuram College of Engineering (Proposed), Velneshwar, Guhagar, as follows:

Description	Qty.	Amt (Rs)
Supplying and installation – Collapsible Door, V3F Drive system 8 Passenger Elevator (G+2)	1 No.	Rs. 6,25,000 + Taxes

Terms and Conditions:

- 1. You will carry out the said work as per the provisions of Bombay Lift Act 1958 and issue certification for the same.
- 2. You will arrange to get necessary permission for commencement and Certificate for Completition from the competent authority.
- 3. Delivery & Installation : immediately within a week
- 4. Delivery site : VPM's Maharshi Parashuram College of Engineering (Proposed), Hedavi Guhagar Rd; At Velneshwar, Tal.: Guhagar, Dist. Ratnagiri. 415729
- 5. Billng in favour of VPM's Maharshi Parashuram College of Engineering
- 6. Payment: i) Rs. 2,50,000/- advance with this purchase order.
 - ii) Rs. 2,50,000/- on delivery of the Lift machine and all other accessories.
 - Balance on completion of installation work, commissioning and obtaining necessary permission

6. Warranty: 2 years.

7. Maintenance: Free of charge for a period of two years from the date of lift is put into commission.

Yours faithfully,

VA⁰¹ Secretary Vidya Prasarak Mandal, Thane CONFIRMATION

I/We hereby agree to the above terms & conditions For Alf Touch

CC: Mr. Hrishikesh Gokhale, (Mobile-9987555725/9623322735) Site Co-ordinator, Velneshwar